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(a+b)X(c+d)=

(a+b)* = , (a=b)Y = , (a+b)a-b)=

BB — A ARENRITE TS 44

(1) 303%x295= (2) 52x45=
(3) 37*+2x37x63+63* = (4) 12° +2x12x23+23% =
(5) 817 +2x81x19+19% = (6) 13*+2x13x7+7% =
1 1 5 5 2 2 5 5
) 32)? +2X3—X6=+(6>)* = 8) (375)*+2x37=Ex2=+(22) =
()(8 el (8 e (8) ( 7) ZX27 (ﬁ

(9) 7.66*+2x7.66x7.34+7.34* = (10) 9.27* +2x9.27x1.73+1.73* =



BE =~ AAREAKFET 7 &4

(1) 125> =2x125x25+25% =

(3) 52 —2x52x12+12% =

2 2
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(5) (35) 2><39><9+(9)

(7) 7.32%-2x7.32x2.32+2.32% =

(9) 8.66>—2x8.66x1.66+1.66% =

(11) 522 -104x12+12% =

(2) 177 =2x17x2+2* =

(4) 73* =2x73x3+3%=

3.3

30 3.3, 3 _
(6) (27) 2><27><7+(7)

(8) 7.53* —2x7.53%2.53+2.53% =

(10) 23.8°—2x23.8x3.8+3.8* =

(12) 17.72* =35.42x1.72+1.72* =




BEB= -~ FARENRITET 454

(1) 503%x497=2° (2) 43x57=2° (3) 101x99="2
(4) 71> =11> =2 (5) 63*-3*=7° (7) 79 =29 =2

30 42, 2., 2., 1, 1,

VYV —(REHYY =9 )Y (=) =2 YV —(2=-) =°?
(8) (165) (35) : €)) (711) (211) : (10) (322) (22) ‘

BRE W~ LRE R

(1) #(999.5)* =999 +a, Rla=? (2) #(899.5)°=899"+b, RIb=?
19 .1
(3) 1—x2—="? (4) 1989%x2011="? (5) 1006x994 =7

20 20



(6) FHIH—EXFEEHN? &

(A) (a+b)Y=a*+b* (B) (5-2)"=5"-2°

D) (x—y)y’=x*-2xy-y°

(7)) % a=207x193, b=193"-192*, Bla—-b=

(C) (6-4)>=6>-2x6x4+4*

(8) ®%a+b=5, ab=3, £ (A) a’+b"=

(9) %a-b=4, ab=5. £ (A) a*+b°=

(10) #973xb=1000"-27*, BA|b=

(B) 3a*—-5ab+3b* =

(B) 4a*-Tab+4b* =



